Vertex Smearing

16000;— T ] T - T T T _;
14000F Gaussian Fit: 3
12000F M =-1.18¢-05 3
10000F ¢ =0.005 E
8000F 3
6000F 3
4000F 3
2000F 3
0 -0.04 -0.02 0.02 0.04
(x,.X)cm
Vertex POCA
6000: T T T T T ]
5000;_ Gaussian Fit: _
40005_ M =-5.63e-05 _
E 0=0.00709 ]
3000F 3
2000F 3
1000F 3
O%® o0 0 002 00
(x,.~X¥)cm
Vertex fast fit
8000;— T ] T - T T T _;
7000;_ Gaussian Fit: E
5000F o =0.00499 E
4000F 3
3000F 3
2000F 3
1000F 3
G E 1 -l 1 . £
-0.04 -0.02 0 0.02 0.04
(x,.X¥)cm
Vertex full fit
8000;— T ] T - T T T _;
7000E Gaussian Fit: 3
6000 M =-3.24e-05 E
5000 o =0.00499 E
4000F E
3000F 3
2000F 3
1000f 3
E N -l 1 Jd E
O 5®@ 00 0 002 00
(x,.X)cm
Vertex full kin
8000;— T ] T - T T T _;
7000E Gaussian Fit: E
6000F M =-313e-05 3
5000F o =0.00499 E
4000F E
3000F E
2000F 3
1000f 3
E 1 1 9 E
0= %5@ o0 002 004

Vertex Smearing

16000F ~ T T : T 3
14000F Gaussian Fit: 3
12000F = -1.526-05 3
10000F ¢ = 0.00502 E
8000F 3
6000F 3
4000F 3
2000F 3
055064 ~""0.02 0 002 0.04
- Y)Vem
Vertex POCA
5000F Gaussian Fit: 3
2000F M =-152e05 3
3000E 0 =0.00713 _
2000F 3
1000F 3
0 %0z 002 0 002 oo
- Y)em
Vertex fast fit
8000;— T ] T T T T T _;
7000F Gaussian Fit: E
5000F o = 0.00504 E
4000F E
3000E E
2000F E
1000F E
C: N 1 4
-0.04 -0.02 0 002 0.04
,,c-Y)Vem
Vertex full fit
8000;— T ] T N T T T _;
7000E Gaussian Fit: ;
6000E M= 1.77e-05 3
5000F o = 0.00504 E
4000F 4
3000F E
2000F E
1000E E
0: S 1 A
-0.04 -0.02 0 002 0.04
V- Y)em
Vertex full kin
8000;— T ] T N T T T _;
7000F Gaussian Fit: E
6000E M =1.86e-05 3
5000F o = 0.00504 E
4000F 4
3000F E
2000F E
1000F E
E 1 1 A 3
O %000 0 o0 o0
V,,c-Y)em

Vertex Smearing

16000F ™ ' : ' T3
140002_ Gaussian Fit: _z
12000F p =-1.056-06 3
10000F ¢ = 0.00501 3
8000F 3
6000F 3
4000 3
2000F 3
0 -0.04 -0.02 0.02 0.04
(z,.-2)cm
Vertex POCA
3500;— Gaussian Fit: -
3000F |, = -5,36e-05 E
25008 - 90111

2000E
1500
1000
500E
of

Vertex fast fit

6000F
5000

4000
3000
2000
1000

0

Gaussian Fit:
W = -2.04e-05
F 0 =0.00651

Vertex full fit

6000F-
5000

4000
3000
2000
1000

0

Gaussian Fit:
U= -2.27e-05
E 0 =0.00651

Vertex full kin

6000F-
5000

4000
3000
2000
1000

Gaussian Fit:
U =-1.99e-05
E 0 =0.00651




Vertex error distribution fast
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Vertex pull distribution full fit

Gaussian Fit:
u =-0.00414
o=1

2
(X, X0y

Vertex pull distribution full kin

3500%' Gaussian Fit: '
22885’ 1 = -0.00466 E
20005_ o =0.996 _
1500F 3
1000F 3
500F E
S R R | >3

(X, X0y

Momentum Smearing
16000F T ; ' E
14000F Gaussian Fit: 3
12000F M= 2.26e-05 E
10000F ¢ =0.01 E
8000F E
6000F E
4000F E
2000F E

L 1 1 -l
Y1508 0 005 01

(px P, / GeVic)

Momentum pull distribution reco

6000;— Gaussian Fit: -
5000F u =0.00198 3
4000F ©=0.998 3
3000F 3
2000F 3
1000 3
of ]

4 3 2 -1 0 2 3 4
(px,mc-px)/GPx

Momentum full fit

140002‘ Gaussian Fit: ‘
12000F |, = 1 15¢-05 g
10000 = 0.0107 E
8000F- :
6000F 3
4000F 3
2000F 3
E 1 1 ' ]

Y1508 0 005~ "0
(pxmc-pX / GeV/c)

Vertex pull distribution full fit

Gaussian Fit:
u = 0.000614
o=1

2 3
VYo,

Vertex pull distribution full kin

3500F

3000
2500
2000
1500
1000

500

Gaussian Fit:
| = 0.00059
o=1

-4

Momentum Smearing

16000
14000
12000
10000
8000
6000
4000
2000

Gaussian Fit:
W = 4.42e-05
0=0.01

¥

1
-0.05

0.05 0.1
(py’mc-py / GeVlc)

Momentum pull distribution reco

6000;‘ Gaussian Fit: ‘
5000F |1 = 0.00436 E
4000F o =0.999 3
3000 3
2000 3
1000F 3
of ]
4 3 2 -1 0 1 3_ 4
(Py e PG,
Momentum full fit

140002‘ Gaussian Fit: ‘
12000F |, = 3.75¢-05 E
10000F ;- 0.0107 E
8000F 3
6000F 3
4000F 3
2000F 3
E 1 1 o ]

Q%m0

0

0504
(pyymc P, / GeVlc)

Vertex pull distribution full fit

3000
2500
2000
1500
1000

Gaussian Fit:
W =-0.00436
o=1

2
(2,20,

Vertex pull distribution full kin

3500;_ T ) T ) I. T T T T _;
30002_ Gaussian Fit: _
o5ooE M =-0.00394 E
20005_ o =0.997 _5
1500F 3
1000F 3
500F
O L 1
4 -3 -2 -1 0 2 3
(.20,
Momentum Smearing
16000F S ! ' E
14000 Gaussian Fit: 3
12000F M =-345e-05 3
10000F ¢ =0.01 3
8000F 3
6000F 3
4000F 3
2000F 3
L 1 1 |
Y1508 0 0050,
(pZ mc-pz) | GeVic

Momentum pull distribution reco

60002— Gaussian Fit: —
5000F p = -0.00361 3
4000F o0 =0.998 3
3000F 3
2000F 3
1000F 3
O: 1 1 3
4 3 2 -1 0 1 2 3 4
(pz,mc-pz)/o-l)Z

Momentum full fit
16000F A ' 3
14000 Gaussian Fit: 3
12000F M =-3.45e-05 E
10000F ©=0.01 E
8000F 3
6000F 3
4000F E
2000F 3

L 1 1 -

L Y 0 005 0.
(pzvmc-pz) | GeVic

1

1



Momentum pull distribution full fit

6000F T T e T
Gaussian Fit:
5000F

E 1 =0.000886
4000F =106
3000

2000
1000

2 3
(px,mc-px)/o-px

Momentum full kin
16000F T - ' E
14000F Gaussian Fit:
12000F W =2.22e-05
10000F ¢ =0.01
8000F

6000F 3
4000F 3
2000F 3

ST "508 0 0.05 0.1
(px P, | GeVic)

Momentum pull distribution full kin

6000;— Gaussian Fit: -
5000F i =0.0018 3
4000F o =0.999 3
3000F 3
2000F 3
1000 3

Y R R 4

2 3
(px,mc-‘jx)/cypX

Energy reco

16000F o d ' E
14000F Gaussian Fit: E
12000F M =-8.67e-05 3
10000 o = 0.00996 3
8000F 3
6000F 3
4000F 3
2000F 3
T 56 0 0.05 0.1

(E,E)/GeV

Energy pull distribution reco

6000F Gaussian Fit:
5000F i =-0.0087
4000F o =0.999

Momentum pull distribution full fit

Gaussian Fit:
u = 0.00422
o=106

6000
5000f
4000F
3000F
2000F
1000F

Momentum full kin
16000F T ! T E
14000F Gaussian Fit:
12000F = 4.38e-05
10000F ¢ =0.01
8000F

6000F 3
4000F 3
2000F 3

Y150 0 005 0.1
(py mcPy / GeVlc)

Momentum pull distribution full kin

60002‘ Gaussian Fit:
5000F 1 = 0.00435
4000F g=1

Energy full fit

16000 T : ' 3
14000E Gaussian Fit: E
12000F M =-8.82e-05 3
10000F = 0.00996 3
8000F 3
6000F 3
4000F 3
2000 ]
Y 0 005 041
(€, E)/GeV

Energy pull distribution full fit

6000F Gaussian Fit:
5000F p =-0.00883
4000F 0'=0.999

3000F E
2000F 3
1000 3
e L N -
(E, . E)o

Momentum pull distribution full fit

6000F Gaussian Fit:
5000F i =-0.00361
0=0998

2 3 4
(pz, mc-pz)/o-PZ

Momentum full kin

16000F T : ' 3
14000F Gaussian Fit:
12000F M =-3.48e-05
10000F ¢ =001

8000F

6000F 3
4000F E
2000 3

1508 0 005 0.1
(pZ mc-pz) | GeVic

Momentum pull distribution full kin

6000F Gaussian Fit:
5000F p =-0.00357
4000F o =0.998

2 3 4
(pz,mc-pz)/o-PZ

Energy full kin

16000F T d ' E
14000F Gaussian Fit: 3
12000F M =-8.64e-05 3
10000 o = 0.00996 3
8000F 3
6000F 3
4000F E
2000F 3
ST "%50 0 005 01

(€, E)/GeV

Energy pull distribution full kin

6000F Gaussian Fit:
5000F i =-0.00867
0=0.999




Vertex Fast X? Vertex Fit X2 Vertex Kin X?

10000 10000

1000 1000 1000

100t 1 1 1 1 = it 1 1 1 1 =
100 0 0.5 1 15 2 25 100 0 0.5 1 15 2 25
x? X?
P(X?) Fast P(X?) Fit P(X?) Kin
1200F E 1200F 3 1200 E
10005.@.%,1,:%% 1000LFMFLEWWW 1000}“&1&,%”&%
800F 3 800F E 800F 3
600;_ LineFit: E 600 LineFit: E 600;_ LineFit: E
4005_ const = 1e+03 E 400F  cong = 1e+03 3 400;_ const = 996 E
200F slope=-2 B 200F  gope=-10 E 200F sope=6.4 E
Y02 04 06 08 1 Y "0z "0z 06 08 1 Y02 04 06 08 1
p p p
PRG Pull Distribution (0) PRG Pull Distribution (1) PRG Pull Distribution (2)
6000_—' T T T T T T T ‘—_ F T T T T T T T E F T T T T T T T E
50005_ Gaussian Fit: 3 60005‘ Gaussian Fit: E 6000F Gaussian Fit: E
40005_ E S000F 1 =-0.00469 E 5000F u = 0.00299 3
4000F ¢=1.02 E 4000F o=1 3
3000 3000F 3 3000F 3
2000F 2000F 3 2000 3
1000F 1000F 3 1000F 3
£ E o 1 E
% e R N S R R R N R
PRG Pull Distribution (3) PRG Pull Distribution (4) CPU loads
6000: T T T T T T T ] F T T T T T T T E
5000 Gaussian Fit: 6000;- Gaussian Fit: -
E 5000F p =- 3
4000F E W=-000512 3
4000;— o=1 _;
30005— 30002_ _;
2000F 2000 3
1000 1000F E
Q4 Q4 3 2 1 0 1 2 3 4 POCA  PRGFast PRGFull  KinVix




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5


